
Algebra 1   Chapter 9 Test Review 
 
Graph each equation. 
 
1. 42 2 +−= xy    

2. 2xy −=            

3. 23xy =             

4. 12 2 −= xy       

5. 32 −= xy  

6. 652 +−= xxy  

7. 32 +−≤ xy  

 
Find the vertex and axis of symmetry of the graph of each function below: 
 
8. 72 2 +−= xy  
 

9. 4205 2 −+= xxy  
 

   Vertex: _________  axis of symm_______      Vertex: __________ axis of symm_________ 
 
 
State whether the number is rational or irrational and simplify. 
 

10. 
36

12
 

 

11. 64  
 
 
 

12. 75  
 

13. What number will complete the square?  x2 – 18x + _______ 
 
Solve each equation: 
 
14. 0)9)(2( =−+ xx  
 

15. 0252 =−x  
 

16. 2282 2 =+x  
 

17. Solve the equation by factoring:   
03532 2 =−+ xx  

 
 
 
18. Solve the equation by completing the 

square:  01062 =−+ xx  
 
 
 

19. Find the exact value of x by using the 
quadratic formula:  0423 2 =−+ xx  

 
 
 
20. Solve for x and give your answer to the 

nearest hundredth (2 decimals): 
0453 2 =−− xx  

 

 
 
Solve each equation: 
 
21. 01492 =+− xx  
 

22. 562 =+ xx  
 

23. 0362 =−x  
 



 
 
24. How many zeroes are there for the function 0862 =++ xx ? 

25. How many x-intercepts are on the graph of 36122 +−= xxy ? 

26. How many solutions are there to the equation 0872 2 =−+ xx ? 

27. How many solutions are there to the equation 0823 2 =+− xx ? 

 

 

28. What is the equation for the graph at the right? 
 
 
 

29. What is the slope of a line perpendicular to 6
7

2 += xy ? 

 
30. Factor: 243 2 −− xx  
 
 
Extra Credit: 
A. Find the base and height of the triangle at right whose area=12 sq.feet. 
 
B. The equation 4491.781149.10089.0 2 ++= ttP  models the U.S. population, P, in millions 

since 1990, where t is the number of years since 1990. Use the equation to estimate the U.S. 
population in 2012. 

 
 
 
 
 
 
Solutions: 
1.  
 

2.  
 

3.  
 

4.  
 

 
 
 
 
 
 
5.  
 

6.  
 

7.  
 

 
 
 
 
 
 

x 

x + 2 



8. V: (0, 7)  a.s. x = 0 
 
9. V: (–2, –24)  a.s. x = –2 

10. 
3

1
   rational 

11. 8   rational 

12.  53  irrational 
13. 81 
14. –2, 9 
15. ±5 

16. 7±  

17. 
2

7
, –5 

18. 193±−  

19. 
3

131±−
 

20. –0.59, 2.26 
21. 7, 2 

22. 143±−  
23. ±6 
24. 2 
25. 1 
26. 2 
27. 0 

28. 3
3

1 += xy  

29. 
2

7−  

30. (3x + 8)(x – 3) 
 
E.C. 
A. base=4, height=6 
B. 107.28 million 


